Summer Reading 2025 for the Fourth Form

The Plan: Read, Read, Read!

Read a total of 1200 pages.

| ALL of us will read The Adventures of Robin Hood by
Roger Lancelyn Green and be ready to discuss the book
| on the second day of class in the fall.

.4 This book is readily available at most libraries and can
& also be found on audiobooks.

¥ Along with Robin Hood (which is 320 pages), your reading
page count must total 1200 pages.

You may use audible books to fulfill your summer reading
. assignment since this method invites the entire family to

“read” together while traveling, etc. When school begins
in September, we will explore the archetypal concept of the “hero’s journey” as it
applies to the characters we read. So... as you read, be on the look-out for what
makes the characters in your stories heroic, what challenges they face that
shape them, and how they emerge at the end. We will follow and explore these
hero’s journey patterns throughout the year.

ADDITIONAL TITLES TO CONSIDER:

Adam of the Road by Elizabeth Gray Vining (Middle Ages)

The Trumpeter of Krakow by Eric Kelly (Medieval Europe)

The Shakespeare Stealer by Gary Blackwood (Shakespearean England)
The Red-Headed Princess by Ann Rinaldi (Elizabethan England)

The Second Mrs. Giaconda by E.L. Koningsburg (Renaissance)

“Reading is a basic tool in the living of a good life.”
Mortimer Adler






Fill out the form below.

Note: A parental signature is required on this form.

This form will be collected on the first day of school,

N

--Summer Reading Pledge and Report: 1200 Pages Total--

| have read the following books this summer:

Title Author Number of Pages

Total number of pages read:

Student’s Signature:

Parent’s Signature:







Summer Math Packet

Review: Word Chatt

Unit: Knowledge of Algebra, Patterns, and Functlions
Objectlve: Write expressions and equations.

Divislon

3

Examples:

2) Thiee less than a number s equal fo 7.

The sum of a nmber and 1135,
4) Cody has $50 to spend. How many shirts can he buy at $168.50 each? Wilte an equation to solve,

X+1=8§

Wilte an expression or equation for each of the following:

Addition Stbtraction Multipfication
more than less than times quolent
Increased by decreased hy multiplied by divided by
sum of fewer than Iwlce dlvlded Into
added to change product separate Into equ 4 parts
1) Two times anumber 2
X=3=7

16.60x = 50

v

1.) Five times a number Is 25.

2.) The sum of a number and 6 Is 15.

3) 24 divided by some number s 7.

4) Five doliars less than two iimes Chris' pay Is §124,

§.) Write a word phrase that can be represented by x 11, |

B,) Stppose a DVD costs $18 and a CD costs $14. Wiite
an equatlon to find how many CDs you can buy along with
one DVD If you have $65 to spend. :

On a scale of 1 -5 (1: Weak, 5: Strong) rate yourself on this sectionofmath: 1 2 3 4 5

2
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Unit: Knowledge of Algebra, Patterns, and Functions
.| OhJective: Determine the unknown in a.linear.equation with. 1

orZoperations .. .. . L L L. .o o

Remember, equations must always remain balancad.

o Ifyouadd or subtract the saime number from aach side of an squation, the two sldes remaln equal.
s {fyaurmulliplyor divide-the same number-from each slde of ar equatien, the Wwo sides remaln equal.

Example 1: Solvex+&=11 '

x+5= 11  White the equation I::E
=.5  Subtract 5 from both sides Chec
Xx=6  Simplify

Examplo 2: Solve «21=-3y
=21==3y Wile the equation L___$
-3 =3 Divlde each side by -- 3 Check

7=y  Simplfy

Example 3: Solve 3x+2=23

3x+2=23 Wiite the equation
<2 =«2_ Subtract 2 from or add -2 to each side :>

3x =21 Simplify Check
3 3 Divideeachsideby3
x=7  Simplify )

x+85=41  Wite the equation
6+5=11 Replace xwith 6
11 =11v" The sentence Is frue

-21=-3y Wilte the equation
2 =-3(7) Replacetheywith7
2152« 292 Multiply ~is the sentence tue?

I +2=23 Write the equation
3(7) + 2= 237 Replace xwith 7
2+ 2=232 Multiply
23 =237 Add -1s the sentence true?

1) Solvap+7=15

2.} Solve j-5=-8

3.} Solve 12d = .72

4) Solve L+ =7
11

5.} Solve x-5=8

6) Solve 4L +35=125




7.) Solve £~9=2
2

8.) Solve gw+10=7

9) Solva -Bp— 17 = 10

{10 Solve —Z‘i 43

11.) White an equation to raprasant the following scenario:
You withidrew $100 from the ATM machine, The new
balance Is $372. What was the orlginal balance b.of your
acoount?

' 12.) Write an equa"tloﬁto represant the fallowing scenario; '
| Alexa scored 87 on her history test, Thetesthada
| muftiple-cholcesaction ard & short-answar seidlion, Alexa

pamed 74 polnis on the multiple-choles section. How
many points p did she eam on the short-answer sectlon?

13.) Write an equatlon to represent the follawlng scenarlo;
Mark wants to buy a skateboard that costs $65. He plans
to save $5 per week. How many weeks w wilt it take him to
save $557

114} Write- an aquation to represent the folldwlng scenarfo:
| This year, 14,265 people applled to a particular college.

The number of appllcants inoreased by 868 from last year.
How many pecple p applied last yaar?

15) Wrlte an equation to repressnt the followlng scenarlo;
It costs $12 to attend a golf clinle with a Jocal pro, Buckels
ofballs for practice during the clinic cost $3 each.

How many buckets & can vou buy &t the cllnlc If vou have

$30 to spand?

16) Wilte an equalion 10 represan the following scenaro:

An online retaller chargas $6.99 plus $0.55 per pound to

| ship elestronics purchases. How many pounds pis a DVD
{ layer for which the shipping eharge s $11.94?

On a scale of T — 5 (1: Weak, 5: Strong) rate yourself on this section of wath; 1 2 3 4 5§




Unit; Knowledga of Algebra, Pattetns, and Functiong l
.{ Objective: Graph.ordered palrs fn.a coordinate plane, -

second number Is the y-coordinate.

The coordinale plane is separated into four sections called quadrants.

The coordinate plane Is tsed to locate polnts. The horizontal number iine s the x-axis. The vertical -
numbet line-Is-the y-axis, Thelrlntersection Is the.origln.- — :
Poirits are located using orderad palrs. The first number in an ordered pa[r is the X coordfnate, the

« Start at the origin,
* Move 4 units left along the x-axis.
» Move 3 units up on the y-axis.
The aidered palr for pont P Is - 4, 3).
F Is In the upper ieft quadrant or quadrant Il.

Example 2: Graph and label the point M (0, - 4),
+ Start at the orlgin.
+ Move 0 units along the x-axls.
* Move 4 unfts down on the y-axis,
»Draw a dot and fabel it M(0, - 4).

Example 1: Name the ordsrad palr for polnt P. Then klenllfy the quadrant in which P lies. Quadsant 2

Quadrant I

P4

al 8

- 2

y N}

-3 —2 123 4%

4 ]
Ao, -4
1 I
Quadrant 3 Quadrant 4

1.) Name the ordeted palr for each polnt graphed at the
right. Then identify the quadrant in which each point lies.

2.) Find each of the points below on the coordinate plane.
Then identify the quacdrant In which each point liss.

Coordinates Quadrant y Vi Coordinataa Quadrant ; ] i ‘
Polo) o s A ) CEEMEEREREdS
1 AT
‘ E
19 ) o o (T chf‘ ) FONENREY
I
R () ) M Y B (., ) s
[—4 - 49 J
S { | ) H { 1 l ' |
3.) Graph and labef each point on the coordinate plane. 4,) Graph and label each pointon the coordihate plane.
/ ¥
N (3,-1) j D (0,4) b
P (24 12 E (5 5) ;
1
Q (-3,-4) _b—.?-x-:~ ol 1.2 34 66k G (-3,0) ~Gf-4—3-0 1Of 123 4§ B
R (00 | H (6,-2) m
§ (50 A J (09 4

On a scale of 1 - 5 (1: Weak, 5; Strong) rate yourself on this section of math: 1 2 3 4 5
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Uni: Knowledgé‘af Measurement
Objective: Determine the distance between 2 paints using a

drawing and a scale,

A scale drawing represents something that Is too farge or too small to be drawn at actuzl size. Similarly, a
scale model can be.used to reprasent samething ihat Is too large or too simal for ai actual-gize model The _ | .
saale glves the re}atlonshlp between the drawing/model meastre and the actual meastire,

x = 400 simplify

Beale Patrlck’s Point — |

to Agate Beach T TN

map wg T Unilt Gunlts < map e F“a Ly
actual —p 60 vyards xyards <— gctual } ' ; ."_ ,

Tex =508 cross multiply

Example: On this map, each grid unit represents 50 yards, Find the distance from Patrick's Point to Agale Beach,

It {5 400 yards from Pattick's Polnt to Agate Beach.

1) On a map, the dstanca from
Los Angeles ko San Diego 18 6,35 cm,
The scale Is f cm = 20 miles, Whatls

| the sclual distance? -

los
Angeles gy
& _Dlego
"

J—

| The needle at the top is 31.5 feattall,
| How big should the needie be on the
1 model?

2) Lexle s making.a model of the Emplre State Building,
The scale of the modelds 4 inch = § feat,

lé{gg‘l-ﬂﬂﬁi’l

3.) A scale drawing of an aulomoblle has a scale of
1Inch = Yafoot, The actual width of the caris 8 feet, What
I3 the width on the scale drawing?

Actusl car

4) A moda ship is bullt to a:scale of 1cm 1 Hmaters.
The length of the modal is 37 centimaters, What Is the
langth of the actual ship?

! B

R ENN

__,‘!-

5} Jose wants to bulld a model of a 180-meter tall

huillding, He will be using a scale of 1.6 centlmeters = 3.6
maters, How tall wili the model be? Round your aﬁswer fo
the: nearest tenth, e

G Wodel P

B.):A pond is belng dug according to plans that have a
scale of 1inch = 6.6 feet, The maximum distance across
the pond is 9.75 Inches on the plars. What will be the
actual maximum distance zoross the pond?

On ascale of 1 -5 (1: Weals, §: Strong) rate yourself

on this secticnofmath: I 2 3 4 5
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0n ascale of 15 (1 Weal, 5 St:ong) rate yourself on this section of math: 1 2 3 4 35
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Unit: Knowledge ol’ Number Re[at:onshlps & Computation

' -Examples
ARATIC Is a comparison of o nuimbers by division. When a ratio compares a number to 100, it can be

awritten as a PERGENT. To.write aratlo or fractlon as a parcent, find an equivalent fraction with a dehominator
of 100. You can also use the meaning of percent fo change percents to fractions.

Wrlte el as a percent.
20

12e5 2 =95% 8ince 100+ 20 = 5, multiply the numerator and denominator by 5.

20 o5 100

Write 92% as a fraction in simplest form.
92 w4 2

100 +4 25
Write 92% as a decimal. Move decimal two places to the left, Add zeros If needad. $2.0% =092

Wilte 0.4 as.a percent. Move decimal two places to the right. Add zeros If needed. 0.4 = 40%

2,) Writs 19% as a decl :
1) Wil % as apercent and declral, ) Write 19% eclmal and fractiort in slmplast form

4.) Write 75% as a decimal and fraction in simplest form.
3) Wiite -S% as g percent and decimal, ) ' P

5.) Ms. Crestsurveyed her class and found that 15 outof  } 6.} A local retail store was having a sale and offered all
30 students brushed thelr teeth more than twice aday. thelr merchandise as a 26% discount. Write this percent
Write this ratio as a fraction in simplest form, thenwrfe it | as a fraction in simplest form, then write It as a decimal,

as a % and a dacimal,




A

On.a scale of 1 ~ 5 (L: Weak, 5: Strong} rate yourse!f on thls sectmn of math 1 2 3 4 5

Uit Knowfedga of Number ﬁelattonshlps ) Computation §
Objective: Add, subtract, multiply and divide infegers.-B -

Examples: - o e o

MULTIPLYING & DIVIDING INTEGER RULES:
e  Two Integers with DIFFERENT signs the answer Is NEGATNE

s Two integers with SAME sfgns the answeris POSITIVE

Examples
5 (-2} = 5 times - 2, the signs are dlfferent S0 the answer wiII be negatlve = 10

(- 8) « (- 8) = the slgns are the same sb the-answer will be positive = 54
30 = (- 5) = thesigns are different so the-answer will be negative 6 -

|- 100 + (- 5) = the slgns are the same so the answer will b positive =20 - i T

119 Mufitly: <14 (-7) 2) Divide: 350+ (- 25)

3} Evaluale fa=-3mdo=6 4 Eraluate Fd=- 2% 6 = 4, and [=8

- 3ac o . de

6 6,) A submarine descends af a rate of B0 faet each.
I minute. How long wil it take It to ciescend toa depth of
660 fost balow the surface? -

S) A computer stock decreased 2 points each hour for 6
tours, Determine e fotal change in. Ihe sfock value over .

the 6 hours.




"
L

On a seale of 1 — 5 (1: Weak, 5: Strong) rate yourself on this section of maths 1 2 3 4 Jﬁééénl

Unit: Ordar of Operations and Evaluating Expressions
Objective: Use the order of operationg to simplify a numerical axpression,

Order of Operations:
P~ Parform operatlons inside the-(Parentheses)

E ~ Evaluate any Exponents
WD ~ Muttiplication/ Division {whichevercomes first In the axpression, moving left to right)

A8 - Addition Bubtraction {whichever comes first In the expresston, moving laft to right)

1) Simplify: 7-10 5 12.) Simplify: 171007106+ 14

3) Simpilfy: S/ (3+5) %3 £ Simplfy: 16+43- 2778

5.) Eveluate 11p-6 forp=5 { 6.) Evaluate 3x2 -4 whan x=-4

7.) Evaluate 62+ 3a fora=12 8) Evaluate -4y2— 8y + 1 when y=-3

10




On a scale of 1 -5 (1: Weal, 5: Strong) rate yourself on this section of math:. 1. 2.. 3-4--5 -

| Unit: Knowledge of Numbor Rela_{ionships,& Computation
ObJective: Add, subtract, and multiply posfiive fractions and mixed numb@_rs. A

Examples: = _ ... . .. oo
i » To add unlike fractions (fractions with different denominators), rename the fractions sothereisa
common denomlnator,
I 2 I Jes 5 2 206 12 5 12 17
Add: —+Z= S=a e Sl il e ek
d 6 5 6 Ge5 30 5 586 30 30 30 30
1.2 1 . _le3 3 3 207 4
dd: 12—+ 8% = 2-=12-% =127 8l=ginlagl
A 2 3 2 203 6 3 32 g
3 4 7 7, . . . i
12«6~+83 =20€ 3 IS impreper so we must changs it to proper. 7 divided by 6 = 1E
20+1 =gt
[ 6 6
11 4 2
1) Add: —+2 2) Add: 7-+10=
) Ad 309 ) 9 9

5 1
) Add: I~ 4~
3) Add 5ty

13
41 .I - 2
) Add 22+ 3

2

3.) Aqulche recipe calls for 2% oups of grated cheess. A

, 1 '
recipe for quesadillas requires 1 3 cups of grated cheese,

Whatis the fotal amount of grated cheese nesded for both
raclpes?

in ail?

6.) You wantto make a scarf ang malching hat. The
pattern calls for 1 g— yards of fabric for the scarf and 2~1-
yards of fabric for the hat, How mu

2
ch fabric do you need

11
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o s ey P = 4 st didy

On a scale of 1 — 5 (1: Weak, 5: Strong) rate yourself on this sectionofmatlhy 1 2 3 4 5

Unit: Simplifying Expressions B T
Objective: Simplify variable expressions by combining like terms and using the Distributive Propety.
Examples: '

o 'Tocombine - add terms that have the same oxact variable part,

o To disiribute —multiply the number outside the parentheses fo all terms inside the parentheses.

¢ REMEMBER! Xeep track of the sign of the number as you regroup

Example; Simplify the expression,

a) dg 312 b) 14y +2 - 10y + 13 c) a+2b-5b-6a
-2 -3 +1 14y —10y+2+13 la—6a+2b~5b
2x -2 4y + 15 -5a—~3b

Example: Simplify the expresslon first using the Distributive Praperty.

8  2mt6) b 3lg-7) o) 4(k-1)-3%
2omt2-6 3oge 307 42k - 413k
2m+ 12 3g 2] 8k—4-3k

Sk—4
1) 7d-8+dd+4 T2 2v- 546y
3) 4(b+ 1) | 4y -2{2q-1)
Y B0+ 10} + x By B=7+10)

14




Answer Key
Check your answers after completing each section. Indicate whichever statement best
‘applies to you.

. Page2 .. . e e
Answer I got it on the 1 tryl

- Tgot i-t with

. I no fdea.
correckions. have A

1. Sx=25

2, x+6=15

e
X

4, 2x-5=7

5. .Answers will vary.

6, 19+ 14x =065

Pages 3 to 4
Answer I got 1t on the 1 try!

I got it with

i ave no idea,
corrections. Ih no ide

p=8

x=14

d=9

O ) N ol sl ol
=
i
[\

p=-3

10. w=728

1. 4-100=1372

12,745 p=§7

13, §w=255




14, p+ 868 = 14,965

15,12+ 36=30

16, 6.99 + 0.550 = 11.94

m'lsage 3 h

Answer

Tgotiton the | Igotiwith | Thaveno
1 iyl corrections, idea,

1. P (2,3) 1V: Q (-3, -2) I1L; R (1, ) I 8 {4, D) 11

22 AL DILTE SV BG L HE, 2) I

3. 'e’y
Lok
~pif
2
“-‘-"Jr ) éj- W
: -2
g
T4
i G
4, 7 i
-
_ »
: 1
"G“"E"—f“:é;'-" Ol 1.2 3 ¢ h X
.. ”
»
i
B
| &
Page 6
Answer I got it on the I“try! | I got it with corrections, I have no idea,
i, 127 mi
2. 3.5in
3. 16in
4, 150cm

16




5.

1
77 em

6. 63.375R

Page 7

Answer

I got it o the 1% try!

[ I got it with corrections.

I have no idea.

0.28, 28%

0.19, X2

! 100

0.18, 18%

3
0.75,%

=, 0.5,50%

1
=,0.25

I got it on the 1¥ try!

I got it with corrections.

I have no idea.

Answer

I got it on the 1¥ tryl

I got it with corrections.

I have no idea,

Igotiton the 1% try!

I got it with corrections.

I have no idea.

17




6. 44

7. 98

8 -1

Pages 11

Answer

I got it on the 1™ try!

I got it with corrections.

I have no idea.

I got it on the 1% try!

I got it with corrections.

I have no idea,

!

Page 13

Answer

I got it on the 1% try! |

I got it with eorrcctions,

I have no idea.

8

—

158

1.
2.
3,
4, 152
5,
6.

Page 14

Answey

I pot it on the 1 try!

I gotit with corrections.

I have no idea,

1. 11d-4

2. Tv—5

3. 4b+4

18



~4g + 2

wn b

6450

o

<fe-76

19




Nama

Date

Factor the expression.
6p+ 15

STEP
(GCF) of tha tarms.

STEP1
6p + 15 = 3(2p) + 3(5)

STEP1
3(2p) + 3(5) = 3(2p + 5)

The factored form of 6p + 15 is 3(2p + 5).

Determine the greatest common factor

The GCF of 4 and 15 is 3.

Use the GCF to factor each term,

Rewrfte the expression as a product.

Factor Algebraic Expressions

Factor the expression. If the expression cannot
be factored, explain why not.
13-5n

STEPT Deiermine the greatest common factor
(GCF) of the terms.
The enly common factor of 13 and 5n

is 1.

STEPT Because 1is the only common factor
of 13 and 5n, you cannot factor the

expression 13 - 5n.

f6/ Quick Check

Factor the expression. If the expression cannot be factored, explain why not.

@B 4v+12
()

Practice on Your Own

€3 o+5b

€) 1612

Factor the expression, If the expression cannot he factored, explain why net.

&) g2

&b 3-159

@ 21x- 14

)

50 tath in Focus®s Singapore Wath
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Name

Date

Through Expending ———-

Determine whether tha algebraic axpressions
below are equivalent,
32g-4)and 6g-12

STEP1T  Use the djstributive property to expand
the first expression.
32g - 4) = 3(2g) - 3(4)

= b6g+~12
STEP2 Compare the expanded expression to
the second expression. They are the

same, so they are aquivalent,

So, you can wiite 3{2g~4) = 4g ~12.

Recognize Equivalent Expressions

Through Factoring

Determine whether the algebraic expresslons
below are equivalent.
25 + 20t and 5{6 + 41)

STER1 Factor the first expression, The GCF of
25 snd 20 is 5.
25 + 20t = 5(5) + 544

=55+ 49
STEP2 Comnpare the factored expression to
the second expression. They are not the

same, sp they are not equivalent.

So, you can write 25 + 201 5 5{(6 + 41).

. v,
Fe7 Quick Check
Choose an equivalent expression. -
('“} @ 8a -4 is equivalent to
- a) 4(2a-1) b} 2(8a-4) g} 3(5a-~1) d) 4(2a+ 1)
@ 12+ 3yis eq_uivateﬁt io ,
a) &6(2+ 3y B} 1201 + ) c) 34+ d} 403 +2y)
Practice on Your Own
Choose an equivalent expression.
@ 4n- 10 1s equivalent to
a) 4n-5) b} 5(2n-2) &) 2(n-5) d} 2(2n-5)
@ 11(3d - 6} is equivalent to
a) 33d-6 b) 33d-66 ¢} 3d-64 dy t1d-66
@ 30+ 18p is equivalent to
a) &5+ 3p) b} 2015+ 3p) <} 3(Ep+ &) dy 3(10 + 3p)
@ 8(7r + 2) s equivalent to
[ a) Sér+ 16 b) 15¢+ 10 c} S5ér+2 d) 7r+1é
L
62 Math In Focus®: Singapora Math
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Name

Date

Selve Algebraic Equations by Balancing

You can use inverse operations to solve an equation. This is also called balancing an equation.

STEP 1 Get the variable alone on one side of the equation. To do that, you add, subtract, multiply,
or divide both sides of the equation by the same nonzero number.

STEP 1 Simplify the aquation,

Addition or subiraction —

L Multiplicattan or division ———

Solve the equation. Solve the equation.
x-4=7
—x=12
X4 =7 —y =12
4
~44+4=7+4 Add4ioboth sides.
¥ ' @ Pomsices %x-dr 1oz —% Divide both sides by%. :
x=11 Simplify the equation. 4
i—x % =12 -j: Multiply both sides by the
reclprocal of T
x =48 Simplify the equation.
L S S
B Cuulck Check

Solve each equation.

& x+3=12 G x-7=1

Practice an Your Own
Salve each equation.

1
puy

@X+

|-

=) x- 13 =21

46 Math In Focus®; Singapore Math
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Name

Nla drove 225 miles in 5 hours. Find her average
speed in miles per hour,

STEP1 Wiite the rate. Labelthe terms.
225 < miles
5 & hours

STEF2  Lse the unitary method to find the unit
rate, the average number of miles Nia
drove in 1 hour
5 hours « 225 miles

1 hour e--% = 45 miles per hour

Nia drove at an average speed of 45 mi/h.

Find Rates and Unit Eﬁ%g

The price of cereal zt two stares is shown, At
which store is the cereal less expensive?

Stors A: 83,29 for a 12-cz box
Stare B; $5.00 for an 1B-nz box

STER1  Find the unit price at each store,

Store A: —si%-g-q- = 50.27 per oz

$?§0 = $0,28 per oz

§TEP2 Compare the unit prices,
$0.27 < $0.28

Stors B:

Tha cereal is less axpensive at Store A,

Conpentng Unit Rates ——

&y Quick Check

Solve.

&B A cyclist rode 36 iles In 4 hours. What was
het average speed in miles per hour?

Practice an Your Own
Solve.

@ A 5-pound bag of white onions costs $4.25.
A S-pound bag of red onions costs $4.45.
Find the unit prices for aach.

@ Jenna drove 228 miles in 5 hours. Barry
drove 238 miles in 4 hours, Who was
driving at a greater average speed?

78 Math in Focus®: Sligapore Math

@ Mr. Leonard paid $35.75 for 10 gallons of
gas. At another gas station, Ms, Lu paid
$36.90 for 11 gallons. Who got the better
deal?

@ The Wiite-:On Company sells packs of 3 pena
for $1.50. The Ink Company sells packs of
7 pensfor $3.50. Find the unit price for each.

@ Julieta bought% Ib of belogna for $1.50,
1lb of ham for $7.00, and% b of salami

far $3.99. Which dell meat cost the most
per pound?

© Marshzll Cavendish International (Sigapore) Private Limited.




etk Check

1. m
4, 2

Ruick Check

1. 9
4, 5

0. 6z

g. 8
11. 8

0 ~4 0 2
-2 =6 =10 -4

5 1 25 17
~4 -8 =20 10

i

Guick Check

1. No; the x and y terms cannot be combined.
2. Yes: the b terms can be combined.

Froctice on Your Cwn
4. 204+ 9)
B, M3s-7)

&. only common factor is 1

7. 3(t - 5g)

8. only common facter is 1

2. 5(2¢ + 5)
10, 7(3x - 2)
11 5(2r + 3)

12. only commen factor is 1

Guick Check
1, ay d2a-1)

Proetice on Your Gwn

3. d) 2(2n-5)
5. &) &(5 + 3p)

Suick Check
1. %, or22+ X
3. x-13

Prectice on Your Chwn

5. 72x
7. 2x-8

2,

&,

&.
22

g,

g 3x-12 1.

FPractice on Your Own
B, 12x &, ttm+ 14
Fo-Bcd+ 8 0r8-8d 8 15/ +8
9. 5y-8 10, 7x+ 4
Qefek Cheek
1. Qy b 2, 7+ 48a 3. 16e+ 20
Prectics on Your Own ‘

4. 4254 18 B, 16-8r G. 24+ 12m
7. 5k - 40 8, A5d + 43 9 40s5-8
40, 49 +49g 11, 20k-90Q A2, 3&v -~ 24
13. 72 + 36w 14, 4Bn-064 15. 121p + 55

Guick Check

1. Ay + 3)

2. only common factor is 1

3. 2(8t- 1)

Guick Checlk
1ox=9 2.

Practice on Your Cwn
4. X w= SD

Quick Chack
1. Falss

2. True

Practice ot Your Qwn
4, True
7. False

x=8

5. False

34+ y

b} 33d - 66
a) 56r + 16

X+ 6 or

19

X oorx+ 12

x+ 1.5

=+ 1

6, x=45

3. False

4. True
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Guick Chaek

1. < 2. >

3. x> 4 4, x<10

Prectice on Your Gun

5 = G, =
Z.xz 25 8. x< 35
2. x< 80 10, x> 24
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Guick Check

1.5106,5:6:,—2— 2.2103,2:3,-;
Practice on Yeur Clwn

3.1:4 4. 5:2 5. 1:7
G, 4:1 7. 2:1 8. 5:18

Suick Theck

1. Ne’

2. Yes

3. Noj samplas: 3:4,9:12

4. Yes; samples: é to 14, 9 1o 21
5. No; samples: 310 5, 12 to 20

Practice on Your Own
5. No; samples: 210 5, 12 10 20
&. Yes; samples: ﬁ—-, £
7. No; samples: =, —

8. Yes; semples:

4
@. No; samples: 2: 3, 8: 12
10. Yes; samples: 42 : 16, 63: 24
11. Yes; samples: 8 3G, 12 : 45
12. No; samples: 1t0 3, 210 6
13. No; samples: 5ic 1, 60 10 12
14. No; samples: 3 to 8, 12 to 32

Sz
Grick Check
1. 9 m?/h 2. Ms, Lu

Proctice on Your Gwn

3. white: $0.85 per [b; red: $0.89 per b
4. Write-On: $0.50 per pen; [nk: $0.50 per pen
8, Jenna
6. salari

Quick Check
1. @4, 4 2. (7,6
3. (5,0 4, {0, 3)
Presciice an Your Own

5. (53 & (2, 8)
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